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Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.
Section - A
1. Answer any five questions : 4x5
(a) State whether the following statements are true or false. 4

(i) A line diagram is meant for time series data.

(i) To exhibit the population of five countries in 2001 diagrammatically, the suitable diagram is
ratio chart.

(iii) In any grouped frequency data class intervals are of equal width.
(iv) The vertical axis in case of ogive is cumulative frequency.

(b) Suppose that the least value 5-5 of a set of 50 values changed to 4-5. What would happen to its

mean, median, mode? 4
(c) Given the following results relating to two groups containing 20 and 30 observations, calculate the
coefficient of variation of all the 50 observations by combining both the groups. 4
Group
I II

X 45 55
Tx? 118 132

Please Turn Over



lK(I)—Ecouomics—H-ZA] (4)

2.

(d) The coefficient of rank correlation of the marks obtained by 10 students in Economics and
Mathematics was found to be 0-5. It was then detected that the difference in ranks in the two
subjects for one particular student was wrongly taken to be 3 in place of 7. What should be the
correct rank correlation coefficient? 4

(e) A graduate of computer science applies for a post in two industries X and Y. The probability of
being selected in industry X is 0-6 and that in Y is 0-5. The probability of at least one of his
applications being rejected is 0-4. Find the probability that he will be selected in one of the industries.

4
(f) Define a random variable. Find the probability that a continuous random variable assumes a definite
value. 2+2

(g) The standard deviation of a symmetrical distribution is 9. What value can you suggest for the
fourth order central moment in order that the distribution is platykurtic? 4

(h) What is a life table? Mention two uses of it. 2+2

Section - B
Answer any five questions : 6x5
State with reason whether the following statements are ‘true’ or ‘false’ : 2+2+2

(a) G. M. and H. M. cannot be measured for a set of values of a variable that includes zero.
(b) If the standard deviation is zero, all the values of the variable are equal.

(c) The expectation of a random variable cannot be negative.

(a) Discuss the measurement of economic inequality using Lorenz curve and Gini coefficient.

(b) You are given the following values of higher order central moments as [, = 1-52, h3 = — 0-75,
B, = 20-15. Obtain the suitable measures of skewness and kurtosis. Comment on the shape of the
distribution. 3+3

(a) What is Cost of Living Index number?

(b) The following data show the cost of living indices for 5 groups with percentage of total expenditure
for middle class people of a certain city in 2015 (Base 2005 = 100). Find the general cost of living
index number.

GROUP FOOD | CLOTHING | LIGHT & FUEL | HOUSE RENT | OTHERS
Index No. (%) 525 325 240 180 200
Percentage of

Total Expenditure 40 16 15 20 09

Mr. Das got a salary of ¥ 7500 in 2005. Determine how much salary he would need in 2015 to
maintain his standard of living as in 2005. 2+2+42
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(a) Let the random variable x have the p.d.f
F(x)=Cx(2=x), 0<x<2
Find C. Also obtain P (3 <x < 1).

(b) Suppose that one-third of the diabetic patients in a city are on insulin. Each of 100 investigators
collects a sample of 10 individuals from the population of diabetic patients to see if they are on
insulin. How many of the investigators are expected to report that at most 3 out of 10 diabetic
patients are on insulin? (2+1)+3

(a) If women always married men who are 3 years older than themselves, what would be the correlation
coefficient between the ages of husband and wife? What would be the regression equations?

(b) The correlation coefficient between x and y is 0-5. Find the correlation coefficient between 10x
and —5y. (2+2)+2

(a) What is standard normal variable?
(b) Can the skewness of a normal distribution be 3? State with reasons.

(c) The mean weight of 500 male students at a certain college is 151 Ibs and the S.D. is 15 Ibs.

Assuming that the weights are normally distributed, find how many students have weights more
than 155 Ibs.

Given @ (0-27) = 0-6064. 1+2+3

(a) State and prove Bayes’ rule.

(b) In a coffee house two persons A and B supply coffee to the customers. A serves 70% customers
and B serves 30% customers of the house. A serves in due time in 80% cases and B serves in due
time in 50% cases. One day a person is not served in due time. What is the probability that he is
served by B? 2+4

Using a moment generating function find out the mean and standard deviation of the Binomial Distribution.
343
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